@@3 ROWLINSON™ Oriental Pagoda English SS136A

GARDEN PRODUCTS Assembly Instructions

Before assembl Base dimensions

e We recommend that time is taken to read the
instructions before starting assembly, then < 2490mm >
follow the easy step by step guide.

The instruction sheet is only a guide to
the assembly. Certain items may not be ?

shown to scale.
® Check all components prior to assembly

e This product should be assembled by no
less than 2 people.

o Never attempt to erect the assembly in
high winds.
e Drill components where indicated.

-

2187mm




Components list

z
°

Components Qty.

Square centre base
Rectangular bases

Floor bearers with metal brackets
Bearer separators

Floor panels

Hexagonal centre piece
Uprights

Floor edge panels

Large fences

10  Medium fences

11  Small fences

12 Hand rails

13  Long top frames

14  Short top frames

15  Triangular corner supports
16  Left arch piece

17  Right arch piece

18  Lower roof rafter

19  Lower roof rafter support
20  Lower roof panels

21 Mid roof panels

22 Upper roof panels

23 Lower roof coverstrips
24 Mid roof coverstrips

25  Upper roof coverstrips
26 Metal roof support ring
27  Mid roof bearers

28  Mid roof bearer supports
29  Upper roof bearers

30 Centre finial

©CoO~NOULA_WNPEF

'I:;I—‘070707I—‘07OOOOOOOOOBOOMOOMOONOOOOI—‘

31  Finials

No. Fixings Qty.
32 Metal L-brackets 24
33 130mm screws 6
34 70mm screws 255
35 50mm screws 450
36 40mm screws 216

Recommended tools for assembly
e Cross head screw driver

e Sharp knife

o Drill with 4mm diameter drill bit

e Step ladder




;Rectancé.ﬂg% b

Secure uprights in place with 4 x 50mm screws.

All uprights secured in place. Attach floor edge panels using 3 x 40mm screws




I-t .

Sit the large fence on the floor between the uprights and secure with 6 x 70mm screws. It may help to drill pilot holes in the end frames of all the fence.

il il |

Position a handrail on top of each fence.

Upright top frames are positioned as shown.

& Top view of an upright

-.ﬁ;; 2" to show where the top
" ot L E
3 frames screw in.

Secure top frames to upright ends with 4 x 70mm screws per frame.

Position the medium sized fences as shown. Secure fence with 4 x 50mm screws, 2 at each end of the fence.




EmmmmmE
;. -—F!!-- it

NI

Shows Lower roof supports in place

Secure the bearer support as shown using 2 x 50mm screws

Align the roof bearer with the bottom
of the mid sized fence as shown.

& -
Drill a hole in each end of the lower roof bearer support

Position the lower roof panels between the roof bearers.



Secure in place at each end with 2 x 50mm screws.

.--h_":i-.l_
] PR

-

Lift bearer assembly onto uprights and align with the uprights.

4 vl
Attach the remaining 2 bearers to the metal ring and to the main assembly as before.

View from inside building.

Secure back of roof with 1 x 40mm screw.

Underneath view of roof coverstrip attachment.

Use wide
shank 50mm
screws.

Attach using 5 x 50mm screws per bearer.

36

"

L
L-brackets gn both side’

earer in pI:aée with 2 L-brackets and 8 x 40mm screws.




Secure each roof support with 2 x 50mm screws.

Using 2 x 40mm screws, secure a corner support in each corner of the top frame. Shows top frames with corner supports in posmon

Dirill hole and screw top roofbearers to centre finial usmg 1 X 70mm screws.

A

-~

Centrally attach the 2nd hexagonal piece to the centre finial using 1 x 70mm screw.

Shows all top roof bearers attached to centre finial. Position bearer assembly centrally onto the top roof frames.



uF’osition top fences as shown and secure usiﬁg 4 x 50mm screws. See Photo 18. Secure top roof bearers to top frame using 2 L-brackets and 8 x 40mm screws per bearer.

0 !
screws per panel.

Secure roof anels to the top roof rafters using 4 x 50mm

; ; -
’ l.-----l

_h_‘

4 =5 |

s 1 N NiacBooN § Y

Secure the panels on the middle roof bearers using 6 x 50mm screws. Fit 6 roof panel facia boards and the 6 finials using 2 x 50mm screws each.

T 7 = 25
Secure each floor panel down using 8 x 50mm screws per panel.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 10%)
  /CalRGBProfile ()
  /CalCMYKProfile ()
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails false
  /EmbedAllFonts false
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (Europe Prepress Defaults)
  /AlwaysEmbed [ true
    /HelveticaCYBold
    /HelveticaCYBoldOblique
    /HelveticaCYOblique
    /HelveticaCYPlain
    /HelveticaNeue
    /HelveticaNeue-Bold
    /HelveticaNeue-BoldItalic
    /HelveticaNeue-CondensedBlack
    /HelveticaNeue-CondensedBold
    /HelveticaNeue-Italic
    /HelveticaNeue-Light
    /HelveticaNeue-LightItalic
    /HelveticaNeue-UltraLight
    /HelveticaNeue-UltraLightItalic
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f300130d530a930f330c8306e57cb30818fbc307f3092884c308f305a3001753b50cf89e350cf5ea6308267004f4e9650306b62913048305f00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <FEFF006d0079002000730065007400740069006e00670073>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


